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by # 73,190 172, 419 81, 250 91,169 -14 -79 65
H A B 20, 063 46, 779 21, 344 25, 435 2 -35 37
+ = 541 1,322 626 696 -11 1 -12
FBAF—TH 225 586 269 317 -1 0 -1
4BE_-TH 169 390 170 220 1 0 1
4BE=TEH 261 644 279 365 -1 -3 2
4BFMTH 343 863 415 448 3 0 3
4SBERTH 230 606 274 332 -1 0 -1
4BAFENRTH 47 1, 061 446 615 3 -1 4
Z B = 1,160 2,711 1,237 1,474 5 1 4
FmEEfA—TH 246 601 288 313 -6 -2 -4
mEMA=TH 153 400 178 222 3 0 3
£/T—TH 490 1,099 480 619 -4 -1 -3
£/ TFZTH 169 386 178 208 -1 0 -1
£/ TF=TH 249 548 251 297 0 -1 1
£/ THETH 330 724 339 385 -1 -2 1
£/ THETH 40 93 47 46 -3 0 -3
£ /J F 19 43 18 25 -1 0 -1
mAB®—TH 224 433 193 240 -8 -1 -1
RAXZTEH 166 379 172 207 -1 0 -1
MABR=TH 120 316 153 163 2 -1 3
RASMTH 250 586 266 320 2 0 2
INET—TH 143 290 134 156 1 0 1
INETZTH 479 1,206 532 674 2 -2 4
INBT=TH 225 486 224 262 -1 -2 -5
KET—TH 433 911 403 508 -1 0 -1
KET—TH 554 1,240 560 680 0 0 0
KET=TH 380 829 37 458 -1 -2 1
KETIUTH 366 959 436 523 -3 -1 -2
KETRTH 297 703 347 356 8 -1 9
KETRTH 190 531 245 286 -1 -1 0
KETETH 80 214 95 119 -1 0 -1
MARE—TH 438 1,043 482 561 4 -2 6
MARE_TH 444 973 453 520 2 -1 3
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MAREMNTH 267 650 311 339 2 2 0
MARERTH 599 1,407 657 750 0 -2 2
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B AE—TH 500 1,037 472 565 1 -1 2
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£E&—TH 356 810 372 438 5 0 5
EAZ-TH 786 1,690 762 928 3 1 2
EA&=TH 159 415 172 243 -6 0 -6
EAWMTH 140 251 118 133 -3 -1 -2
EAETH 37N 965 463 502 -4 -1 -3
kR / F 503 1,238 546 692 1 -1 2
BEEF—TH 291 636 298 338 -1 0 -1
WEEF_TH 240 572 256 316 4 -2 6
WEE=TH 190 400 186 214 0 0 0
WBEEFLMTH 100 250 102 148 2 0 2
A AB—TH 218 473 217 256 0 0 0
WM AHB=-TH 164 402 186 216 -1 -1 0
WAAB=TH 217 584 236 348 1 -2 3
WA AHBmTAE 140 406 174 232 2 0 2
WMAABETH 597 1,467 686 781 -4 -2 -2
B o #h i 9,917 24, 332 11, 352 12, 980 -65 -19 -46
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E#g_—TH 488 1,170 564 606 -11 -4 -7
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mA#EENTH 424 1,055 482 573 -6 -3 -3
tEBHEERE—TH 8 26 11 15 0 0 0
tEBAHEER-TH 445 1,060 481 579 -2 -3 1
tEBHEER=TH 479 1,226 551 675 -4 0 -4
tEBAHEEREMTH 484 1,150 505 645 1 0 1
tEBAHEERRATH 267 684 327 357 3 0 3
EmB—TH 697 1,797 834 963 -14 0 -14
EBR_-TH 449 1,077 524 553 -1 0 -1
tBHE—TH 441 1,049 499 550 0 -1 1
tEBAHEZTH 358 871 393 478 -2 -1 -1
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FEOR O = 14,082 33,672 16, 029 17, 643 20 -20 40
#E—TH 352 836 408 428 -2 0 -2
w’E_-TH 817 2,057 984 1,073 -1 1 -2
#E=TH 552 1,350 619 731 0 -2 2
R#EOTH 320 729 327 402 -1 -2 1
#ERTH 384 780 366 414 1 0 1
i =) 244 498 265 233 15 1 14
FHN—TH 446 1,072 531 541 -2 -1 -1
= i = 484 1,147 511 636 3 -1 4
FH9=TH 388 997 432 565 -1 -1 0
F 4 302 583 290 293 -2 -3 1
1] % 2,309 5,418 2,688 2,730 5 -2 7
t B E 796 1,884 884 1,000 -3 0 -3
FL—TH 286 702 342 360 0 0 0
FILZTH 459 1,156 546 610 -1 -2 1
FIR=TH 318 814 403 411 6 -2 8
FLEMTH 564 1,440 703 1317 2 0 2
FLAETH 192 403 202 201 -1 0 -1
FILATH 96 209 107 102 -4 -1 -3
F i 41 91 38 53 0 0 0
HEH—TH 181 415 198 217 8 1 7
HH_-TH 379 944 458 486 1 0 1
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5Z-TH 770 1,369 703 666 7 3 4
£=TH 674 1,522 716 806 1 0 1
EMTH 702 1,617 792 825 -9 -1 -8
EETH 1,116 2,792 1,380 1,412 -1 5 -6
a 870 2,025 944 1, 081 -3 0 -3
INEA—TH 561 1,015 529 486 -10 -2 -8
INERZTH 917 1,973 985 988 -4 3 -1
I BB 40 106 54 52 -1 0 -1
RKw—TH 295 520 248 272 -1 -2 1
KHW=—TH 903 1,554 754 800 -4 0 -4
KMW=TH 556 1,128 528 600 6 0 6
KM@ TH 124 1,576 756 820 -3 -2 -1
KMETH 788 1,737 831 906 9 3 6
RKMWATH 529 1,098 525 573 2 1 1
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X fia 1,325 3,188 1,532 1, 656 -6 -1 -5
=) 52 307 876 416 460 -1 0 -1
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SRE-TH 206 490 237 253 4 1 3
SRE=TEH 236 559 249 310 5 -1 6
SREMTH 429 1,035 478 557 -1 0 -1
SREERETH 162 410 186 224 -1 0 -1
SREBENTH 333 757 359 398 3 -1 4
SREETH 360 848 402 446 1 -2 3
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&5—TH 382 786 396 390 3 -1 4
fA—TH 631 1,344 665 679 2 2 0
BAAZTH 729 1,514 707 807 4 0 4
£ PN 1, 805 4 588 2,149 2,439 -1 -1 0
E#—TH 610 1,332 643 689 7 0 7
E#H_TH 685 1,683 807 876 -3 -3 0
EH=TH 227 558 273 285 -10 -1 -9
E#EMOUTH 228 669 314 355 0 0 0
EHEATH 446 1,134 542 592 -3 -2 -1
HE X 2,195 5,515 2,699 2,816 24 0 24
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B = 689 1,930 907 1,023 -10 -2 -8
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